A B C
1. w(t)=-2t+1 1. h(t)=|t+2] +3 1. h(n)=-2n*+4
Find w(-7) Find h(6) Find h(4)
2. w(a)=a+3 2. g(a)= 2. p(t)=4t-5
Find w(x + 4) Find g(2x) Find p(x —3)
3. 3. 3.
hlx)=3x+3 flx)=4x-3 glx)=2x-5
glx)=—4x+1 glx)=x" +2x h(x)=4x+5

Find (h + g}[l[l}

Find (f — g)(4)

Find g(3) — h(3)

4,

gla)=2a-1
hla)=3a-3
Find (g - h)(—4)

glt)=1"+3
hlt) =413
Find (g - h)(-1)

4.
g{n}=n2+4+2n
hln)=-3n+2

Find (g - h)(1)

5. 5. 5.

g{ﬂ}_:3a+2 _,F{x}:lt— 1 g{a}:—Eﬂl -

fla)=2a-4 glx)=x"—x hla)=-2a-4
AT

Find (f )(3} Find ( )@ Find ( ) (=D

6. 6. 6.

hin)=4n+35 gln)=3n+2 flx)=2x" - 55

gln)=3n+4 fln)=2n"+5 glx)=2x-1

Find h(g(3))

Find g(£(2))

Find f(g(6))

7. 7. 7.

hln) =3n -1 g{x}=_r+2 8{H}=—”+5
f’dﬂ} 4n -2 f(x]=x3—lr f{ﬂ}=ﬂl—|
Hnd(hogx4) Find (gof)(5) Find (g £)(6)
8. 8. 8.

f{".’ =2n gln)=2n+3 hx)=x*-2
gln)=-—n-4 hin)=n-1 glx)=4x+1
Find ( f ¢ g)(n) Find (g e h)(n) Find (he g)(x)




ABC Sum Race: Function Operations

Directions

1.

Students are placed in groups of three and asked to assign each person in the group a letter (A,
B, or C) and identify a team leader.

2. The team leader comes to the front of the room to get a task card. The task contains three
problems: A, B, and C.
3. Each team member solves the problem that corresponds to the letter he or she represents and
records the answer on the scorecard.
4. Once all answers are recorded, the team adds the answers together to get a sum and records it
on the scorecard as well.
5. The team leader brings the scorecard to the teacher to be checked. If correct, the group moves
on to the next task card. If the sum is wrong, the team must check their work/redo and resubmit.
Names:
A
B
C

Question A B C SUM
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